
 

 

Answer on Question #41511 – Math - Statistics and Probability 

𝛼 = .05, 1 − 𝛼 = .95, 
𝛼

2
= .025, 𝑧.025 = 1.960, 𝑛 = 350, 𝑥 = 290, 

 𝑥=number having the characteristic in a random sample of size n. 

𝑝̅ =
𝑥

𝑛
=

290

350
 

Lower limit for 95% confidence interval: 

𝑝̅ − 𝑧𝛼

2
    

√
𝑝̅(1−𝑝̅)

𝑛
=

290

350
− 1.960 √

290

350
(1−

290

350
)

350
 ≈ 0.79. 

Upper limit for 95% confidence interval:  

𝑝̅ + 𝑧𝛼
2

    
√

𝑝̅(1 − 𝑝̅)

𝑛
=

290

350
+ 1.960 

√
290
350

(1 −
290
350

)

350
 ≈ 0.87. 
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